A £ 0ol & A & Ml A
A3 ZAILNESR A T EAID
FHa: CADHEY
Cel: EelETAdE2Y CEERE)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
CANS= 120,426,505 185,899,060 235,472,555
= 13,328,016
= 6,335,000
) 540,600
S 10,003,854
Al 90, 129,035
SAI 847,080 5,736,299 24,889,219
CADHE 750,880 5,548,719 24,797,839
SEIECAIHE RS 10,400 18,600 8,200
CAH 2L 10,400 18,600 8,200
202 O48l 3,200 9,600 26,400
01 SLHOIH 3,200 9,600 26,400
OZAY gRF
20,0002 x42& *405] 3,200
203 BR=EHI 7,200 9,000 21,800
03 A= H 2= 7,200 9,000 21,800
OZADSAIHZT(=E)
4,800,000 14] 4,800
OZAIAIFE 2,400,000 *14] 2,400
DIcHXI & I = Al H = 652,480 1,292,719 2640,239
MESEHMNA TAIZEIHE =8 200,000 350,000 A150,000
401 Al HIZ S CTHYI 200,000 350,000 A150,000
01 Al&£HI 200,000 350,000 £150,000
OMEETM A TAIZCIHE =8
200,000,000 *14] 200,000
AZ2ACHE 250,000 250,000
401 AlEHIZL RO 250,000 250,000
01 Al£HI 250,000 250,000
OogdaciHE =8 894
250,000,000 * 14 250,000
SAHE FEHA(PIS) FXI2el 25,000 25,000
401 Al HIZ S CHYI 25,000 25,000
01 Al£HI 25,000 25,000
OZAIHE HEHA(UPIS) RXIE=H]
25,000,000 *14] 25,000
CAZe A= =8 57,400 86,800 229,400
201 Zet=EH| 22,400 86,800 264,400
01 At 22|l 22,400 86,800 264,400
Oget+=gd| 2,400
o AIAEAZE QM= ME
1,0002 %123 1005 1,200
SAIMEIBLAER S 2ME ME
1,000 *128| 100 1,200
Oo=g+d 20,000




AR CADSER SA A
M AN
2l DIHKI SR QI T Al =

A RA B C9I(S) - MSAY - BES Ol &t = HIDE
cAHERER & AINSELHSBERAR
3 =g 100,000 x25H +83] 20,000
308 AFXIEMSOIE 35,000 35,000
13 S 2 SHTEE 4 EASAI I 35,000 35,000
OzAlZe e 220z
5,000,000 72| 35,000
SAH=E 2 12,080 21,700 £9,620
201 et2SH| 6,000 10,500 £4,500
01 At222[H] 6,000 10,500 24,500
Ooget+=Sh| 6,000
oEX0ISHE A 5425 7
4,000,000 *14] 4,000
ScTAAHECH EHE Tl 423
2,000,000& 14! 2,000
202 Ot 6,080 11,200 25,120
01 SLHOIH 6,080 11,200 25,120
OZAlZe A& 2R
20,0002 +42 x383| 3,040
SNEIEEER-EES]
20,0003 x4 »383] 3,040
SAIBIOF 2kl 8,000 12,480 £4,480
202 O4b| 8,000 12,480 £4,480
01 SLHOIL 8,000 12,480 £4,480
ONgae|slze dLEx
20,0008 x4 %1002 8,000
AEIksst N2 =8 EF 100,000 300,000 A200,000
401 AlEHIZ RO 100,000 300,000 £.200,000
01 Al&d| 100,000 300,000 £.200,000
OZAIZ2IHE (X7 HE) =8 8
100,000,000 *14] 100,000
CAZ2EY 88,000 237,400 149,400
CAIE2 AR 88,000 237,400 149,400
201 2BtEEHI 68,000 87,400 £19,400
01 AR2t2/H] 68,000 62,000 6,000
Oget=3H| 1,000
oD AZZ AIMEN S22 WA
1,000,000 14| 1,000
Oo=g+¢ 24,000
o ANHESS?E & 22 =8
100, 0003 * 122 *202] 24,000
Ogxt= 43,000
SHSNENY M=K AMZ
15,000,000 * 14 15,000
cdAS EERI Xz
28,000,000 *14] 28,000




D EANSE= M ZAID
DOEADRE

D EAIEEARA

A RA B C9I(S) - MSAY - BES Ol &t = HIDE
308 XXM SOIA 20,000 20,000
13 S| 2ASHEE 4 XS AN 20,000 20,000
OXTERNE p2BTR
5,000,000& 42| 20,000
SSLIAE J|&2te] 24,000 64,680 240,680
S3CIAR! Dl =gl 24,000 64,680 £40,680
SSCIAe 2g2e| 24,000 62,280 A38,280
201 LBt=EH| 24,000 47,880 223,880
01 At22t2[Hl 24,000 47,880 A23,880
O=s0INe MEY AR 22l
3,000,000 14| 3,000
OSSCINIT SRS =& 21,000
STTUINCINERAE =Y
100,000 «30H+7& 21,000
HH2IAHI(ZAID) 72,200 122,900 A50,700
el 2| 24,000 62,400 238,400
330X 2d2el(el2]) 24,000 62,400 238,400
101 ©124H| 24,000 62,400 238,400
02 JIeta 2= 24,000 62,400 A38,400
O33CIxtel QI EIHCIR) 2=
2,000,000« 1E* 122 24,000
Jl=&Hl 48,200 60,500 A12,300
Jl23 48,200 60,500 A12,300
201 Let=EH| 28,200 33,700 £5,500
01 AlR2tel8l 28,200 33,700 25,500
OAtR 22l 17,800
cHIAFRES 78 500,000& * 12 6,000
S ARI|I| AZERY
6,000,000 *14] 6,000
od eI 2| 75,0003 x122] 900
=J|EH det=3h| 4,000,000 14| 4,000
o AFYHI 300,000 32 900
O=gl 10,400
=J)|=gR+d SA
8,000 * 132 x100&] 10,400
202 04t 10,800 16,200 5,400
01 =LA LI 10,800 16,200 25,400
OJ|2g a0l
60,0002« 182 x103] 10,800
203 BFFLHI 9,200 10,600 21,400
01 J| 22 LRF2| 5,600 7,000 41,400
oJj2ggesxa 5,600,000 14| 5,600
4 FPAEIE T2 3,600 3,600 0
OFRMzgdge=d 300,000+ 12 3,600




A £ 0ol & A & Ml A
AR ZARER SN DS
Hu: CAX DEHM 23X
Sl usarel (et &9)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
mi=yn; 38,109,125 39,342,980 A1,233,8%
= 852,950
= 1,014,000
) 540,600
& 1,091,833
Al 34,609,742
A USHE FA 394,190 425,000 A30,810
wsae| 394,190 425,000 230,810
AU A FEHE & S ZSABf AL 19,000 19,000 0
207 AR 19,000 19,000 0
NEEEEE] 19,000 19,000 0
Ol&olz s ZAF U 2 JHH B8
19,000,000 *14{ 19,000
HAZEAAETS & 29 356,190 368,000 211,810
201 LBt=EH| 315,390 317,000 21,610
01 AlR2t2l8l 216,340 40,000 176,340
OHAEEAIAHE AZE 7
25,000,000 *14] 25,000
OHAEZAIAE 2X & 22l
177,540,000 +14] 177,540
OHAZZAIAE(BIS) SHOIX & 2L
=X &e] 13,800,000 * 14 13,800
02 35234l 99,080 277,000 A177,950
O&I| Stz 99,050,000 *14] 99,050
401 AlEHIZL RO 40,800 51,000 210,200
01 Al£HI 40,800 51,000 £10,200
OHAZEOHND| 20 &X
10,200,000 «40H 2~ 40,800
wSHM A== 19,000 38,000 A19,000
207 AR 19,000 38,000 A19,000
01 HESHI 19,000 38,000 219,000
OHEAl N HEWS AXEAH =
19,000,000 *14] 19,000
tEY nused 1= 32,238,417 30,440,251 1,798,166
= 852,950
= 1,014,000
) 540,600
S 1,091,833
Al 28,739,034
HSnsSAtY 243t 32,238,417 30,440,251 1,798,166
= 852,950
= 1,014,000
) 540,600
S 1,091,833




AF TANS= A usSh
Hu: oIiEA NEHY 2=
Cel HESnsSAtY 245t (S ® =)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
Al 28,739,034
ANEENSI RIHEES KA 11,000,000 12,000,000 21,000,000
307 I2t01H 11,000,000 12,000,000 21,000,000
09 2+AHELS 11,000,000 12,000,000 1,000,000
OALEUSIHBI A AL S )RIEERS
X 11,000,000, 0002 *100% 11,000,000
AU A Hi=2led X3 4,541,156 4,541,155 0
= 333,929
Al 4,207,226
307 glzto| & 4,541,156 4,541,185 0
= 333,929
Al 4,207,226
09 E2+EAREES 4,541,155 4,541,155 0
OAUEIA = X2
4,541,155,000& *100% 4,541,155
= 333,929
Al 4,207,226
AUHA 2EAH WEXIE 4,167,900 3,038,599 1,129,301
201 Let=EH| 6,000 30,000 A24,000
01 At22t2[HI 6,000 30,000 224,000
OSYsHA Y BEE WX
6,000,000 14| 6,000
307 glztold 4,161,900 3,008,599 1,153,301
00 2+LHEELS 4,161,900 3,008,599 1,153,301
OAILIHA LD M2 RXIZ+
570,000,000 *12% 68,400
OuSott &0l & Pgats 484
2,000,000,000& *100% 2,000,000
Oodzd ns=sl N2 A2y
2,000,000,000& *100% 2,000,000
O2024 28 SHEAEEHE HA RS0IE
X 93,500, 0002 *100% 93,500
MafHAs S X 715,000 920,000 A205,000
= 367,500
S 107,250
Al 250,250
402 RIZEAHZ0IH 715,000 920,000 £205,000
= 367,500
= 107,250
Al 250,250
02 QI XHEAILEER(0IMTHE) 715,000 920,000 A205,000
OM&HA XA 715,000, 0002 *100% 715,000
= 367,500
== 107,250




AF TANS= A usSh
Hu: oIiEA NEHY 2=
Cel HESnsSAtY 245t (S ® =)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
| Al 250,250
S3EHA XY 3,499,300 3,200,000 299,300
= 420,000
S 126,000
Al 2,953,300
307 2I2t01 & 3,499,300 3,200,000 299,300
= 420,000
< 126,000
Al 2,953,300
09 2FEAELS 3,499,300 3,200,000 299,300
OOtaltHA 2| X1
840,000,000 *100% 840,000
= 420,000
== 126,000
Al 294,000
OOtal A 2ZH! XI& (AIHIFD1)
2,659,300,000& *100% 2,659,300
Sgns=¢ 22 XA0I3) 2,432,600 1,890,000 542,600
) 540,600
Al 1,892,000
307 glzto| & 2,432,600 1,848,400 584,200
) 540,600
Al 1,892,000
05 BIIRIE =3 2,432,600 1,848,400 584,200
OS8us+t 2EX=
2,432,600,000& * 14 2,432,600
) 540,600
Al 1,892,000
SASSAIEY K& 1,130,631 1,067,022 63,609
201 2Bt 2,500 2,500 0
01 At22t2lH] 2,500 2,500 0
OHAIZE 3el+=g
100,000 x5 %53 2,500
207 A0 19,000 19,000
01 HESHI 19,000 19,000
ORNIBAt 2EAl BAIESE &Y 9
19,000,000 * 14 19,000
307 I2t01H 441,730 457,689 215,959
02 QItF A E X 441,730 457,689 A15,959
O=Al MBIAN&E (S, 2 201 X2
14,3002 1, 175CH* 12 *100% 201,630
OHAl SSE4H AIEXIE
343,000, 0002 *70% 240,100
308 XXM SO0l 647,401 546,833 100,568




D EALE= A WS
D QtEA NEHE 7=
HELSAY 2435t 2 HA)
A 24 - BY - GA(S) - HEAY - BES = DS
13 S| 2ASOUEE &4 X AAE AN 647,401 546,833 100,568
OEA2E 222 AIAE(TIS) 2] X2
12,401,000 x 14 12,401
OHAIOIZ ZEEME 22Z2 1= ¥
635,000,000 *14] 635,000
401 Al HIZ S CHYI 20,000 60,000 £40,000
01 Al&H| 20,000 60,000 240,000
OHAIsdE £X & B+
20,000,000 *14] 20,000
BAles It X 201,264 213,024 211,760
S 60,379
Al 140,885
307 gl2to| & 201,264 213,024 211,760
S 60,379
Al 140,885
02 QI F A B X 201,264 213,024 211,760
O8A= Itesg X
14,0002 1, 198CH* 12 *100% 201,264
= 60,379
Al 140,885
CAXISAIEDIE SZHEAI (2 EHEIH) 130,373 159,267 A28,8%4
= 39,112
Al 91,261
402 212t X+=20(H 130,373 159,267 A28,894
S 39,112
Al 91,261
02 QI XHEAILEER(0IETHE) 130,373 189,267 A28,8%4
OUATSAEDIE 2ZHLAIY X2
162,966,000 *80% 130,373
= 39,112
Al 91,261
SSEEA X2 185,134 192,940 27,806
= 29,000
= 46,840
Al 109,294
301 LEtEN S 185,134 192,940 A7,806
= 29,000
S 46,840
Al 109,294
01 AlSI2EH 253 (R NEETHE) 185,134 192,940 A7,806
OSSEAl A& 185,134,000 14| 185,134
= 29,000
S 46,840
Al 109,294




A RA B C9I(S) - MSAY - BES Ol &t = HIDE
VE2NMA 26 et 2435 Al 120,000 120,000 0
= 10,890
= 7,623
Al 101,487
301 LetE2NHS 120,000 120,000 0
= 10,890
S 7,623
Al 101,487
14 JIEt2 a3 120,000 120,000 0
OLNE2HA 2THS Kalghe eldlElE
=) 100,000 363 36,300
= 10,890
S 7,623
Al 17,787
OLd2dAt 2 Ttalgte QIMEE
XI2(AIHIZIH) 83,700,000 x 14 83,700
HA2F=SAA 2202 HEXIE At 225,000 315,000 280,000
= 67,500
Al 157,500
307 glzto| & 225,000 315,000 280,000
S 67,500
Al 167,500
09 2+AHEX 225,000 315,000 £90,000
OHAZ2=SA 2201 HEXIE A
225,000,000 *100% 225,000
= 67,500
Al 157,500
SgENS+H Y 144,000 528,000 A384,000
= 69,000
= 20,700
Al 54,300
405 THaHE S 144,000 528,000 A384,000
= 69,000
S 20,700
Al 54,300
01 THtL ESFISHI 144,000 528,000 A384,000
OSEnELE 2T
138,000,000 14 138,000
= 69,000
S 20,700
Al 48,300
OSEusat HEFA(AHIFN)
6,000,000 14! 6,000
SSHlE & 23SAHEH £d 10,000 40,000 £.30,000




AF TANS= A usSh
Hu: olgiEal nESA 7=
Cel HESnsSAtY 245t (S ® =)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
IEEEEST] 10,000 40,000 £30,000
01 Al 10,000 40,000 £30,000
OltaHA BSHE 21 24
10,000,000 * 14 10,000
S AEIHA 2 (M) (2BHEZAI) 430,000 10,000 420,000
= 215,000
= 107,500
Al 107,500
401 AlEHIZ RO 40,000 10,000 30,000
= 20,000
= 10,000
Al 10,000
01 Al&£HI 40,000 10,000 30,000
OAEIHA s28 AlEHd
40,000,000 * 14 40,000
= 20,000
== 10,000
Al 10,000
402 212+ X201 390,000 0 390,000
= 195,000
== 97,500
Al 97,500
02 RIZEXHZ AL 2 (01X THE) 390,000 0 390,000
OAIEIHA 2 130,000, 000 *3CH*100% 390,000
[as 195,000
= 97,500
Al 97,500
BIAIZT EAXIR(HE 2R 1,750,000 312,000 1,438,000
= 136,500
Al 1,613,500
301 LetENS 1,750,000 312,000 1,438,000
= 136,500
Al 1,613,500
14 IEt2d2 1,750,000 312,000 1,438,000
OHAIZIUEAXJ (HELRE)
13,000,000 *35CH 455,000
= 136,500
Al 318,500
OHAZ LR (HH LR, AIHIFIH)
37,000,000 35CH 1,295,000
28 AEIHA 2E(HZAHE A 700,000 590,000 110,000
= 350,000
== 175,000
Al 175,000




AF TANS= A usSh
Hu: oIiEA NEHY 2=
Cel HESnsSAtY 245t (S ® =)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
201 LBt=EH| 7,000 14,000 47,000
= 3,500
= 1,750
Al 1,750
01 At22t2lH] 7,000 14,000 27,000
OclZ2d S 222 M
7,000,000 14| 7,000
= 3,500
= 1,750
Al 1,750
307 glzto| & 693,000 576,000 117,000
[ 346,500
= 173,250
Al 173,250
09 2+AHE2LS 693,000 576,000 117,000
OZE MEIHA 2H(2ZHEZAI)
693,000, 0002 *100% 693,000
[ 346,500
= 173,250
Al 173,250
LEWSIHE TE M 24,000 11,800 12,200
= 12,000
Al 12,000
308 XXM SOIA 24,000 11,800 12,200
= 12,000
Al 12,000
13 SO 2SO THEE 4 E2AEAI I 24,000 11,800 12,200
OLEsWSIHE OrelXl X
24,000, 0002 *100% 24,000
= 12,000
Al 12,000
HIEXHO0 Skt 0ls XA 546,000 435,000 111,000
301 LetE2HS 504,000 387,000 117,000
02 A2 EH =63 (FHAAHS, NLHE) 504,000 0 504,000
O2EAEA 4= NE
504,000,000 *14] 504,000
307 glztol & 42,000 48,000 26,000
1 A= XA 2 E 42,000 48,000 6,000
OHIEHO REAT 2 X
42,000,000& *100% 42,000
SgusSs¢ 248 N (=2ER) 248,060 97,600 150,460
= 248,060
307 glzto| & 248,060 97,600 150,460
= 248,060




CAlNE= M nsSh
IZtEY nsaEd 2=
HsnsSAty 243t

A RA B C9I(S) - MSAY - BES Ol &t = HIDE
05 2ItRIE =2 248,060 97,600 150,460
OSEnE4+H 29N
248,060,000 * 14 248,060
= 248,060
HsuSHl 22 N2 38,000 0 38,000
= 19,000
Al 19,000
308 XXM S0l 38,000 0 38,000
= 19,000
Al 19,000
13 ZJ| S OITh3HZ AL X 2 AL 38,000 0 38,000
OUzEnEY B2 N
38,000,000 +100% 38,000
= 19,000
Al 19,000
HH2IAH(WED) 23,840 29,380 £5,540
=234 23,840 29,380 25,540
JIE23H] 23,840 29,380 25,540
201 eEt=Eh| 10,100 10,100 0
01 AtR2t2/H] 10,100 10,100 0
Oggt=8ZH| 10,100
cHIANRES 28 300,000+ 12 3,600
SARRII 22F 7Y
500,000& * 12 6,000
=J|EH=E8| 500,000 *14] 500
202 4t 8,400 14,000 25,600
01 SLHoIL 8,400 14,000 45,600
OJl2de =80l
100,000& x28 2 +33] 8,400
203 BR=EHI 5,340 5,280 60
(U A Reapeshes BNl 5,340 5,280 60
OFRNEgE R 445,0003 128 5,340
HWeesS(WEn) 5,452,678 8,448,349 22,995,671
LIS HHKIE 5,452,678 8,448,349 22,995,671
WA= 5,452,678 8,448,349 22,995,671
701 RIS EES 5,452,678 8,448,349 22,995,671
01 JIetalAdES 5,452,678 8,448,349 22,995,671
OLSAMASESNH HES(HAA SAIXS
= Ao 0% L)
5,452,678,000& x 14 5,452,678




A £ 0ol & A & Ml A
AF TANS= A T SAITHAE
3 F010] =xole XHIkss TAINAY
Bl Ty Edst (S ® =)
AR RA - BH - GI(E) - MSAE - B Ol &t = HIDE
S AL THAE 10 7,049,977 8,332,770 21,282,793
= 1,546,000
= 172,700
Al 5,331,277
F=RI0| F=Eote XEItss TAITHAY 6,716,688 7,947,647 21,230,959
= 1,546,000
== 172,700
Al 4,997,988
CHESS 5,342,808 6,204,879 A862,071
= 915,000
= 91,500
Al 4,336,308
SAITHAEALS 1,708,900 86,880 1,622,020
201 Zet2SH| 49,500 46,800 2,700
01 At22t2lH] 4,500 0 4,500
OZAINY 223 2&
100,000 x 152 *38] 4,500
02 s=523Hl 45,000 46,800 41,800
O3&2= € MA 45,000
oMIIRz 3,500,000& 123 42,000
oy ot 23 250,000+ 12 3,000
202 04t 7,800 34,080 226,280
01 =LHOL] 7,800 10,080 22,280
OZ AN A=
20,0002 «6 2 *653] 7,800
203 HE=EHI 1,600 2,000 2400
03 Al =X AR F2IY| 1,600 2,000 2400
OZAITHS HRF2 1,600,000 %14 1,600
401 Al HIZ S THYI 150,000 150,000
01 Al&H| 150,000 150,000
OZAMY S2AIY =X(AF 24|, ==
= 8) 150,000,000 14| 150,000
405 THHFSH| 1,500,000 0 1,500,000
01 Tt =S F=H| 1,500,000 0 1,500,000
OSAMY S2AIY =&(EXI 0HY)
1,500,000,0003 * 14 1,500,000
ZEANDAIHEX N 22 210,108 215,926 25,818
101 I24H| 72,726 74,712 21,986
M ORIMZZ2XSE s 72,726 74,712 21,986
Oded (42) 71,750
oxg 55,950,000 x 14 55,950
cde|PReL 200,000 12 *12& 2,400




M2 CADER
mz: F0l
ool TAEAs

A RA B C9I(S) - MSAY - BES Ol &t = HIDE
SMel =8 EX0Y
20,0003+ 12 *1203] 2,400
o= & Fits 11,000,000 *14] 11,000
OM=xY 976
=012 95,2003 x2& %53 952
oHMZEAY 2R NSMHESER
952,000 *2.5% 24
201 LBHESHI 114,382 107,614 6,768
01 AtR2t2/H] 78,002 63,994 14,008
et =24| 47,002
cCANY E22 &AM HH
6,000, 0008!x14! 6.000
oL 48
165,000 * 12 1,980
CARBE 7Y 700,00024 43| 2,800
cseRER 20,0002 x2E 128 480
SAIREIII| ADE P
400,000 128 4,800
SOISYBAE Z48Y
1,200,000& 123 14,400
ST AT MRS FIt
2,000,000 14! 2,000
SAEE ATE =4H]
2,000,000& 23] 4,000
odsd| SX= 48,5002 x 12 582
oFXAMEH K2+ EH
330,000+ 12 3,960
SOSHESHS M 2ACIHH(HI], 2E,
s27|) 84 500,000& * 12 6,000
O34l SHOIX & AlIAE 22| EY
3,000,000 14| 3,000
OJIEt =3HI 3,000,000 14| 3,000
OZgs Felgedst 2S (XXM AH AL
&) 25,000,000 %14 25,000
02 B523H| 21,380 23,620 22,240
O&332= & MAl 20,880
o&lle=s 1,500,000& 122 18,000
od.oteER3 130,000&* 122 1,560
oStz 100,000 * 12 1,200
o ACIHIOIE Bl4HSHT SAR=
10,0002 * 12 120
Oo=Ez (e - 891) 500,000 *14] 500
03 Ar2SHI 15,000 20,000 £5,000
O AT s 24 15,000,000 *14] 15,000
202 O48l 3,000 3,600 2600
01 SLHOIL 3,000 3,600 2600




AF TANS= A T SAITHAE
2 00| FEote KHotss DAY
Bl Ty Edst (S ® =)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
OZAITHS At =2
20,0002 x32*503] 3,000
307 2I2t0| & 20,000 30,000 210,000
02 QI B A E X 20,000 30,000 10,000
OFAUS AL 20,000, 0002 *100% 20,000
NEANZE L2 XNSHUAS (B 2EEAIY) 54,000 200,000 A146,000
401 Al HIZ S CHYI 4,000 8,000 £4,000
01 Al&d| 4,000 8,000 24,000
OMSAIE SIS =X
4,000,000 14| 4,000
405 THAHFSH| 50,000 192,000 £142,000
01 AL =S FSHI 50,000 192,000 2142,000
OMSAIE &0 i 50,000,000 *14] 50,000
LEA DISSSH (LOtEtH) XA 20,000 25,000 25,000
307 I2t01H 20,000 25,000 25,000
02 QI P A E X 20,000 25,000 5,000
OUI=SSHI(Z0IEH) XA
4,000,000 +57H 2=*100f% 20,000
SUS TAIMAAY 22l X3 10,000 20,000 10,000
307 glztol & 10,000 0 10,000
02 Rt B A E X 10,000 0 10,000
O0t=2elAtels 8SLE XA
10,000, 0002 *100% 10,000
SAITHEAIS (2 S) 330,000 1,750,000 21,420,000
402 RI2tA=01H 330,000 0 330,000
01 QI XEAILER (XM ) 330,000 0 330,000
OZAIOtA B3 (RI2FAHALY)
330,000, 0002 *100% 330,000
CATHY =LA (SLS) 3,300 2,731,230 22,727,930
405 THaHE S 3,300 32,670 A29,370
01 Tt 2 S FI=H| 3,300 32,670 229,370
a0tLts ZAck2A dE 0 FY
1,650, 0002 *2EA 3,300
A2 EAIHAA 500,000 1,000,000 £500,000
401 AlEHIZL R0 500,000 1,000,000 £500,000
01 Al£HI 497,000 995,000 A498,000
OLTE SAITHAHAI
497,000,000 * 14 497,000
03 Al 0HHI 3,000 5,000 22,000
OL7T2 SAITHEAI Al OHI
3,000,000 14| 3,000
s ZAIMAAY 2,506,500 0 2,506,500
915,000

o

91,500




AF TANS= A T SAITHAE
3 F010] =xole XHIkss TAINAY
Bl Ty Edst (S ® =)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
Al 1,500,000
401 AI2HIX 20 2,506,500 0 2,506,500
= 915,000
= 91,500
Al 1,500,000
01 Al&H| 2,506,500 0 2,506,500
OBLS SATHAAY =7
2,506,500,0002 *14] 2,506,500
= 915,000
= 91,500
Al 1,500,000
MEOIE AtE 1,373,880 1,742,768 £.368,888
= 631,000
== 81,200
Al 661,680
Al FHAXSE HE(ASKIF) 1,364,200 0 1,364,200
= 631,000
= 81,200
Al 652,000
101 14| 39,760 0 39,760
== 11,928
Al 27,832
04 JI2H=2 2N SE 39,760 0 39,760
oitsgsit Iz 2,680,000 12& 32,160
S 9,648
Al 22,512
OAUES JI2RES 300,000 * 12 3,600
= 1,080
Al 2,520
Oltsgsot ESIH|
400,000 x23| 800
= 240
Al 560
Ootsgsit 220
3,200,000 14| 3,200
= 960
Al 2,240
201 Let=EH| 41,700 0 41,700
[ 10,500
= 9,360
Al 21,840
01 AlR2teldl 26,700 0 26,700
OZZZLUI0IH, 820t te2=E
250,000 %302 7,500




AF TANS= A T SAITHAE
3 F010] =xols XHIkss TANAY
Sl ME0S Ar (S ® =)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
== 2,250
Al 5,250
OMEE 225 7 500,000 %42 2,000
S 600
Al 1,400
OUISEET AR Xt
300,000+ 12 3,600
= 1,080
Al 2,520
OOt=g3It AFRd datEy| Xt
300,000 x 122 3,600
S 1,080
Al 2,520
O822 & 44X HM&
10,000,000& * 14 10,000
= 3,000
Al 7,000
03 A= HI 15,000 0 15,000
OBUH0l ¥ ==z
15,000,000 * 14 15,000
= 10,500
S 1,350
Al 3,150
401 AlEHIZL RO 1,282,740 0 1,282,740
= 620,500
= 59,912
Al 602,328
01 Al&H| 1,272,740 0 1,272,740
OME0tSAY =&
1,272,740,0003 * 14 1,272,740
= 613,500
== 59,012
Al 600,228
03 Al 2 CHHI 10,000 0 10,000
OME0tSAE =& 10,000,000 *14] 10,000
= 7,000
= 900
Al 2,100
==& == ME0SAEY 22l X 9,680 42,768 £.33,088
201 Zet=EH| 9,680 7,800 1,880
01 At 22|l 2,000 0 2,000
OZeIHIoIH SXl=el
2,000,000 14 2,000
02 3324l 7,680 7,800 A120




A RA B C9I(S) - MSAY - BES Ol &t = HIDE
O8&82= € HA 7,680
oMIIRS 500,000 x 122 6,000
o&.ot=k 23 70,0002 =123 840
oHLCIHIOIE Ste=2
70,0002 %122 840
CAE2 xd 279,311 314,621 A35,310
0= Hd - 2el 279,311 314,621 235,310
FFsE & ANL=S 2l 72,600 72,600 0
201 2gt2d| 40,600 40,600 0
01 AtR2t2/H] 38,600 38,600 0
Oggt=8H| 10,000
os¥ZI=E dHl 4A2Z 7
4,000,000 14| 4,000
oSYSAZLE +HESS XMcldls
6,000,000& *14] 6,000
Oozg=+¢ 1,400
o223 3o+ 70,0002 x5 *43)| 1,400
o= 27,200
cEHANE FH DAFAX FRH(AHO0]
) 220,000 «1CH* 10 2,200
c=gZU=E NSZ1 AL
25,000,000 *14| 25,000
02 35224l 2,000 2,000 0
O8&82= € HA 2,000
oc2gZ s ddl dollEg=
2,000,000 *14] 2,000
307 2I2t01 & 32,000 32,000
05 2IZIAES 32,000 32,000
O=ZNs AT A A
8,000,000 42| 32,000
S22 X! i & FHIAY 135,000 185,000 A20,000
401 AlZHIZL SO 135,000 165,000 A20,000
01 Al&d| 130,000 150,000 A20,000
OB =8 AT CIAT! i
20,000,000 *47H 2 80,000
Oxg SEAAIE & HAIAE WX, Zbl
30,000,000 * 14 30,000
OsY % =& 23|
20,000,000& * 14 20,000
03 A2 28I 5,000 5,000 0
OZ1= CIXIHA AlZ 204
5,000,000 14 5,000
212 Hd - 22l 2E 3| 2,560 2,560
202 4| 2,560 2,560
01 SLHoIL 2,560 2,560




D EANSR M T SAITH A

D EAZEE =M
ED2 A - =2l

A RA B C9I(S) - MSAY - BES Ol &t = HIDE
O=sgZngael AIMEX ol
20,0003 x2H »643] 2,560
SYEFI= FEHAA 69,151 84,461 A15,310
101 ©1A4H| 30,151 29,461 690
M IRtMZZ IS 2= 30, 151 29,461 690
OsHZDS 2N A2Y NA(HHE) 20, 151
CEYRIE PRI oY
104,800 x202 * 142 A 29,344
oSN EEE RFE=S
29,344,000 %2.75% 807
206 H=H| 4,000 5,000 21,000
01 THZHI 4,000 5,000 A1,000
O=sgZis 2HMA 223
4,000,000« 14 4,000
301 LetE2NHS 35,000 50,000 A15,000
14 JEt24d=2 35,000 50,000 £15,000
SEELUE +HELA
35,000,000 *14] 35,000
HE2HZHI(TAITHED) 37,678 54,302 216,624
Jl=&Hl 37,678 54,302 216,624
Jl23 37,678 54,302 216,624
201 2Bt2SH| 26,078 36,822 A9,744
01 A2/l 26,078 35,822 29,744
Ooget+=SH| 16,670
oArZ 4| 200,000& * 12 2,400
cHYAFESHI 500,000 %92 4,500
SAIREII| 228 7Y
400,000 * 12 4,800
oURE A 7Y 50,000& 73] 350
b2 A=E 20,0002 x65* 128 1,200
oF=J| SRE 60,0002 128 720
=J|EH Let=ZH] 2,700,000 14] 2,700
O=gtl 9,408
=J)|2gfsd S
8,000& 14 ~72 123 9,408
202 Ot 8,000 11,880 £A3,880
01 =LHOIH 8,000 11,880 3,880
OJl2ee =8 0d 8,000,000 14| 8,000
203 R3] 3,600 3,600
M 2ASLLRFALI 3,600 3,600
SEM2IYR=T 300,000 * 12 3,600
HPES(ZAITHAD) 16,300 16,200 100
2HXE 16,300 16,200 100
s o 16,300 16,200 100




AR CADER SA - SAIAD
HE: WRES(TAIHAD
Sel: BEX=S

- _ SHE|
AR .2 - ZH - S(S) - HRAR - BAS Ol b o S HimEt]
311 XL S0|Xtakst 16,300 16,200 100
03 SLERXNLS0IRtatst 16,300 16,200 100
OXtg = Ol Rtate 16,300,000 * 14 16,300




A £ 0ol & A & Ml A
A= ZALES SA AL
IR
Chelr AL8E 2 EEREED)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
A& 28,184,600 41,110,353 212,925,753
= 3,175,000
= 5,171,800
Al 19,837,800
AL 117,940 123,140 25,200
A8y =28 117,940 123,140 25,200
ALY =& 59,140 53,140 6,000
201 Zet=gH| 34,140 28,140 6,000
01 AR 2-2lH| 10,140 10,140 0
ogsreg| 3,000
CERUASIIS+HE
300,000 * 102 X| 3,000
O®Id3 28+¢ 7,140
NSRS A
70,0002 +72 %103} 4,900
SOlEABHBEIAS ALY
70,0002 x8H =23 1,120
oA SAMNSAHL MDA S LS ERARS] &
sag 70,0002 482 %23 1,120
° ZZ2| 24,000 18,000 6,000
0B322 2 HA 24,000
oJlSE 42, BIY S 2323
2,000,000 122 24,000
401 Al HIZ S CTHYI 25,000 25,000
01 Al&£HI 25,000 25,000
O= - 37X 2t 2X& &X 25,000
o QHY HXIE 500,000 *50H 25,000
A8y 2E gl 8,800 20,000 211,200
202 Ot 7,200 18,000 210,800
01 =LA 7,200 18,000 10,800
OALHHEZSAY 2 AIBFA0HI
20,0003 5 +63]* 123 7,200
203 BR=H| 1,600 2,000 2400
03 Al =X A R=EH| 1,600 2,000 2400
OHLAHIAIHFA 1,600,000 14| 1,600
SFMeHER) s32¢2 50,000 50,000
201 Let=EH| 50,000 50,000
01 AlR2telgl 50,000 50,000
O=gr+g 500,000 1002 X 50,000
CRAlg 2 7,480,000 8,928,000 21,448,000
= 1,040,000
S 815,000
Al 5,625,000
FRIHOIRI0H A 5,400,000 7,360,000 21,960,000




clagel (S9: & 8)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
= 295,000
Al 5,105,000
ATE SSAE(EZ) FHI 1,900,000 1,400,000 500,000
401 Al HIZ S0 1,900,000 1,400,000 500,000
01 AlHl 1,880,000 1,380,000 500,000
OARD ZBAL(EZ) HH|
1,880,000,0002 14| 1,880,000
03 Al R0HHI 20,000 20,000 0
OAIE =018l 20,000,000 * 14 20,000
A2 SSAME(ER) K2+ 1,300,000 1,500,000 A200,000
401 Al HIZ S THYI 1,300,000 1,500,000 A200,000
01 Al&d| 1,300,000 1,500,000 £.200,000
OAR2 SBANE(E2)R X2+
1,300,000,000& * 14 1,300,000
A2 SSAE(ALY) FH 200,000 800,000 £600,000
401 AlEHIZ RO 200,000 800,000 £600,000
01 Al£HI 200,000 800,000 £A600,000
OA72 SSAEL(2ng)E
200,000,000 * 14 200,000
T2 2 25 2 110,000 110,000
305 =S 10,000 10,000
01 tHat=S 10,000 10,000
O42 S3AE 28 o 2&=
10,000,000 *14] 10,000
401 AlEHIZ SO 100,000 100,000
01 Al€HI 100,000 100,000
Otz 2 45 24
100,000,000 14 100,000
A2 SSAIE HYEX 24 800,000 1,000,000 £.200,000
401 Al HIZ S HYI 800,000 1,000,000 £200,000
01 Al&H| 800,000 1,000,000 A200,000
OA7E2 SSAE BHYEX 24
800,000,000& x 14 800,000
a2 SSAE AL HHI 500,000 500,000
401 AlZHIZ RO 500,000 500,000
01 Al€HI 500,000 500,000
O4n2 SSAle FIBAIE 2l
500,000,000 * 14 500,000
FAEXT THoHF Al JHE AL 150,000 0 150,000
S 75,000
Al 75,000
401 Al HIZ S THYI 150,000 0 150,000
= 75,000
Al 75,000




A RA B C9I(S) - MSAY - BES Ol &t = HIDE
01 Al€HI 150,000 0 150,000
OF &K= THoHF R AL
150,000,000 14 150,000
S 75,000
Al 75,000
A= Lel0E ZHAY 300,000 0 300,000
= 150,000
Al 150,000
401 Al HIZ S THYI 300,000 0 300,000
== 150,000
Al 150,000
01 Al£HI 300,000 0 300,000
Og=st 2el0ts gAY
300,000,000 14| 300,000
= 150,000
Al 150,000
SOHEZZ SEIAY 140,000 0 140,000
= 70,000
Al 70,000
401 Al HIZ S CHYI 140,000 0 140,000
== 70,000
Al 70,000
01 Al&H| 140,000 0 140,000
OSHEEZ =AY
140,000,000 14| 140,000
= 70,000
Al 70,000
KNSR A 2,080,000 1,568,000 512,000
[ 1,040,000
= 520,000
Al 520,000
LEHNSUSOIZEMNS (HZAHE Al 2,080,000 1,568,000 512,000
= 1,040,000
== 520,000
Al 520,000
401 AlEHIZ RO 2,080,000 1,568,000 512,000
= 1,040,000
= 520,000
Al 520,000
01 AlZHI 2,080,000 1,568,000 512,000
OQEBTEH S0 ZHAL (RRHECAI)
2,080,000,000& * 14 2,080,000
= 1,040,000
= 520,000




M T2 AlL2te

CFOI KIS AL (S ® =)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
|| ] Al 520,000
ot THoH oIl 19,617,068 31,121,713 211,504,645
= 2,135,000
= 4,356,800
Al 13,125,268
Xgotd 2 10,287,068 23,521,713 A13,234,645
= 3,341,800
Al 6,945,268
Aot == FHl 2 ol At 451,610 700,000 248,390
201 Et=2E | 100,000 100,000 0
01 AlR2t2l8l 100,000 100,000 0
OXlgoteEl ZHIS Xl
100,000,000 *14] 100,000
401 AI2HIX 20| 361,610 600,000 A248,390
01 Al&HI 361,610 600,000 A248,390
OXlgotd sete==, Bi=Ald EHl & |7
&= 200,000,000 * 14 200,000
OHE(Ote) LIk =P A (XI5H)
151,610,000 14| 151,610
HEHote =2 € ol =A2e 251,046 245,297 5,749
101 21AH| 251,046 245,297 5,749
M OIRIMZZ2XNSES 251,046 245,297 5,749
ONZAIE H=&Y Q1FY 251,046
=JlZa
104,800 x11E 161404 SEHS 242,088
o NEMHEERES
242,088,000& *3. 7% 8,958
FRUEHMFA =Al2el 87,745 123,247 235,502
101 2/24d| 19,745 19,247 498
M OIRIKMZZ2XNSES 19,745 19,247 498
OXFA st¥a FX2c| A2y 19,745
=Jlgs 95,2003 1 +20L « 10 19,040
o NS EERES
19,040,0002 *3. 7% 705
206 =4l 8,000 4,000 4,000
01 =4l 8,000 4,000 4,000
OXgARE ¢ 8,000,000 14] 8,000
401 Al<HIX =0 60,000 100,000 240,000
01 Al&H| 60,000 100,000 £40,000
OB EHEHNFX =Xl2tel
60,000,000& *14] 60,000
Ngotd otatddl & S3EHIAMY 200,000 300,000 £100,000
401 Al HIZ S CHYI 200,000 300,000 £100,000
01 Al&H| 200,000 300,000 £.100,000




A3 ZAILNESR S ar=n,
M St Moo
ctelr Rigotd 22

A RA B C9I(S) - MSAY - BES Ol &t = HIDE
OXlgold otatdl & aZ 84|
200,000,000 *14] 200,000
KUot (QHsd) Ul (B EtAt) 1,260,000 909,837 360, 163
401 AI2HIX 20 1,260,000 909,837 360, 163
01 Al&H| 1,260,000 909,837 350,163
OXgatd (e d) AL
1,260,000,000& *14] 1,260,000
HRF MEHSHE ZAAY(HEALY) 3,695,334 1,666,666 2,028,668
== 2,217,000
Al 1,478,334
401 AlZHIZ RO 3,695,334 1,666,666 2,028,668
= 2,217,000
Al 1,478,334
01 Al&H| 3,695,334 1,666,666 2,028,668
ONRA MENSHE T A
3,695,334,000& * 14 3,695,334
S 2,217,000
Al 1,478,334
Ngota (st d) oA (HEAY) 1,541,333 1,666,666 A125,333
S 924,800
Al 616,533
401 AlEHIZ RO 1,541,333 1,666,666 A125,333
< 924,800
Al 616,533
01 Al&H| 1,541,333 1,666,666 A125,333
OXgstd (HsSa ) ZHIAr
1,541,333,000& * 14 1,541,333
S 924,800
Al 616,533
BEXF LHAIL (F=X) ZEAY 2,000,000 17,000,000 15,000,000
401 Al HIZ S CHYI 2,000,000 17,000,000 15,000,000
01 Al&d| 2,000,000 17,000,000 215,000,000
OZEXPLMHAIE (R4X) ZGAL 2,000,000
o B AH| 2,000,000,0002 14 2,000,000
gUd ot ZHIAKY 100,000 100,000
401 AlEHIZ RO 100,000 100,000
01 Al&ZHI 100,000 100,000
Osta gl & =832 3yl
100,000,000 +14] 100,000
A5 NHMHRE HEXF FHIA 100,000 100,000
401 Al HIZ S THYI 100,000 100,000
01 Al&d| 100,000 100,000
OXILotEEHI (A AIEH)
100,000,000 14| 100,000




D EANS=
© o THoHOI
o Xgotd 2el

(S &E)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
S oStEZEAIL(FF00A) 200,000 200,000
401 AlZHIZ S0 200,000 200,000
01 AlZHI 200,000 200,000
OLUA SHEZEL A
200,000,000 * 14 200,000
Ngotd FAEA 180,000 0 180,000
= 90,000
Al 90,000
401 Al HIZ S CTHYI 180,000 0 180,000
= 90,000
Al 90,000
01 Al&H| 180,000 0 180,000
OXLSHE RASHA
180,000,000 14| 180,000
= 90,000
Al 90,000
AYotM ot FHIAY 200,000 0 200,000
S 100,000
Al 100,000
401 Al HIZ S THYI 200,000 0 200,000
= 100,000
Al 100,000
01 AlZHI 200,000 0 200,000
OXIZotd St EHIAY
200,000,000 *14] 200,000
= 100,000
Al 100,000
=T FHEDIE =AY 20,000 0 20,000
S 10,000
Al 10,000
401 AIEHIZL 20| 20,000 0 20,000
= 10,000
Al 10,000
01 Al€HI 20,000 0 20,000
O=& F&HII=Z =HAE
20,000,000 *14] 20,000
< 10,000
Al 10,000
20otd 2 9,330,000 7,600,000 1,730,000
= 2,135,000
== 1,015,000
Al 6,180,000
AStE(ASHE) FHIAIS (HEALY) 2,310,000 500,000 1,810,000
401 AlEHIZ RO 2,310,000 500,000 1,810,000




D EANE=
: ofd THalollet
o AGHE 2el

A RA B C9I(S) - MSAY - BES Ol &t = HIDE
01 Al€HI 2,000,000 400,000 1,600,000
OAGHE (ASE) HHIA
2,000,000,0002*14] 2,000,000
02 Zeltl 300,000 100,000 200,000
OZeldl 300,000,000 x 14 300,000
03 Al R0HHI 10,000 0 10,000
O31lg & AIE20t]
10,000,000 *14] 10,000
A5HE (2018) FHIAS (HEALY) 500,000 2,000,000 21,500,000
401 AlZHIZ S0 500,000 2,000,000 21,500,000
01 AlZHI 500,000 1,700,000 21,200,000
OAcH (201d) HEIAIY
500,000,000 * 14 500,000
A0t BHYUEX 24 400,000 400,000
401 Al HIZ S HYI 400,000 400,000
01 Al&H| 400,000 400,000
OO0t HYUEX 24
400,000,000 * 14 400,000
aotd QIEoiA Ar 600,000 600,000
401 AlEZHIZ RO 600,000 600,000
01 Al&€HI 600,000 600,000
OZotd 2I3cHA AL
600,000,000 *14] 600,000
2otd otatdHl & woli0e At 750,000 300,000 450,000
201 2gt2d| 100,000 100,000 0
01 AtR2t2/H] 100,000 100,000 0
OAotd &l EHIZ X
100,000,000 *14{ 100,000
401 AlEHIZL R0 650,000 200,000 450,000
01 Al&£HI 650,000 200,000 450,000
O4old 8|, =4 & RAES
245,000,000 *14] 245,000
OAStE2CIAIAE RX2e
5,000,000 14] 5,000
OHE(Ghs)LIcH=SPAS
400,000,000 * 14 400,000
L2 oIS IHE X EHIAE 4,060,000 2,220,000 1,840,000
= 2,030,000
= 1,015,000
Al 1,015,000
401 Al HIZ S CHYI 4,060,000 2,220,000 1,840,000
= 2,030,000
S 1,015,000
Al 1,015,000




D EANE=
: ofd THalollet
o AGHE 2el

(S &E)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
01 Al€HI 4,060,000 2,220,000 1,840,000
O MHHAZMLX T HUIA
4,060,000,0003*14] 4,060,000
= 2,030,000
== 1,015,000
Al 1,015,000
=002 boxw & JH& AMY 500,000 1,200,000 £700,000
401 AlEHIZ RO 500,000 1,200,000 £700,000
01 Al&H| 500,000 1,200,000 A700,000
O=atle boxn&(2+2d F=3) M A
& 0,000,000 *14] 500,000
A0tE AS2elA LY 2= 210,000 280,000 470,000
= 105,000
Al 105,000
401 Al HIZ S CHYI 210,000 280,000 A70,000
= 105,000
Al 105,000
01 Al&£HI 210,000 280,000 A70,000
OADIE AHE2ACIANAE A=
210,000,000 » 14 210,000
= 105,000
Al 105,000
HH2IBH(ALD) 69,592 87,500 217,908
=234 69,592 87,500 217,908
Jl=238H] 69,592 87,500 217,908
201 LBt=SH| 52,552 63,120 210,568
01 At=2t2[Hl 45,352 56,920 210,568
Ooget+shl 13,000
oAE 4| 3,000,000 %14 3,000
SHIMRES & ARIDIAEE
5,000,000 14 5,000
=J|Et=24| 5,000,000 *14] 5,000
O= gl 10,752
oJ|2g A3 Al
8,000 x 162~/ * 12 10,752
OPG=3=bNI = 900, 0002 «2CH* 122 21,600
02 35234l 7,200 7,200 0
Oxter= =l 600,000 x 122 7,200
202 Ot 13,440 14,280 2840
01 2LHOIH 13,440 14,280 A840
OJ|2d =0l
70,0002 x 16 =123 13,440
203 HR=&H| 3,600 3,600
M 2EASHLRFALI 3,600 3,600
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A £ 0ol & A & Ml A
AF TANS= M E20
M C2NSY &=
Cel TAIHEEZ L (9 &)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
T2 30,358,036 44,112,289 213,754,253
= 600,000
S 2,468,068
Al 27,289,968
CENST 5 14,163,600 16,102,600 A1,939,000
= 600,000
== 2,155,000
Al 11,408,600
SAHEEZZ 4 4,903,000 11,073,000 26,170,000
= 300,000
Al 4,603,000
slits 2HEZ2 LI AH2-7) 100,000 500,000 £400,000
401 AlEHIZ RO 100,000 500,000 £400,000
01 Al&H| 100,000 500,000 £A400,000
O3lits HBE2 IHESAHU2-7)
100,000,000 14 100,000
SEHL~SEE W2 20 (F2-5) 300,000 100,000 200,000
401 Al HIZ S THYI 300,000 100,000 200,000
01 Al&ZHI 300,000 100,000 200,000
O UHD~E&& W2 S2IHE(F2-5)
300,000,000 *14] 300,000
HEUNSHBEEFSE T22F(S3-17) 400,000 300,000 100,000
401 AlEHIZ RO 400,000 300,000 100,000
01 Al€Hl 400,000 300,000 100,000
O Uiz~ ddE7138 T2 (S3-17)
400,000,000 x 14 400,000
CAHEEZ ATRE QIR AAY 700,000 800,000 100,000
401 Al HIZ S THYI 700,000 800,000 £100,000
01 Al&H| 700,000 800,000 £100,000
OEAMASER AHE RANLALS
700,000,000 * 14 700,000
OHSlE CIBEI-ALNH SAIHE 2 EE(13-1) 2,600,000 2,000,000 600,000
401 Al2HIX S THYI 2,600,000 2,000,000 600,000
01 Al&€HI 2,600,000 2,000,000 600,000
O¢tels AUSFL~FUH TAHE 2=
ZH(CH3-1) 2,600,000,0002 *14] 2,600,000
w2E 82022 T2IHE(A3-3H4) 100,000 200,000 £.100,000
401 Al HIZ S HYI 100,000 200,000 £.100,000
01 Al&H| 100,000 200,000 £100,000
Ol2s 4=12r2 T2 IHA (A3-354)
100,000,000 14 100,000
250 222 TRNE3AH(L3-8) 100,000 100,000
401 Al HIZ RO 100,000 100,000
01 AlZHI 100,000 100,000




a=r =

ANuS= 2M 0 E2

U C2SY S
Cel TAIHEEZ L (9 &)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
OLsY 822 TRHESAH(L38)
100,000,000 14| 100,000
CAAHECZ AT 2334I 3,000 3,000
202 4t 3,000 3,000
01 =LHOIL] 3,000 3,000
OEAMASEZ AAFA
3,000,000 *14] 3,000
O S [302-2-244] 2R TAHE SZ2(A2-1)MESA 600,000 0 600,000
= 300,000
Al 300,000
401 AlZHIZ RO 600,000 0 600,000
= 300,000
Al 300,000
01 Al&H| 600,000 0 600,000
OHS TAHEE2(A2-1)HESA
600,000,000 * 14 600,000
S 300,000
Al 300,000
SHAT & SHEEZ HE 8,354,000 3,954,000 4,400,000
= 600,000
S 1,855,000
Al 5,899,000
FRAGSH(SZS) SRE 100,000 300,000 A200,000
401 Al HIZ S THYI 100,000 300,000 A200,000
01 Al&H| 100,000 300,000 A200,000
OF2r206SH(==S) HEF
100,000,000 14| 100,000
e d(ng2~3aterd) =24 250,000 250,000
401 AlEHIZ R0 250,000 250,000
01 AlZHI 250,000 250,000
O8apRsH (gL~a4etd) E2H
250,000,000 * 14 250,000
garssa(gaetd) 2y 300,000 300,000
401 Al HIZ S CHYI 300,000 300,000
01 Al&HI 300,000 300,000
Ogo3sd (o) 1y
300,000,000 * 14 300,000
SHEEZ(FHNISH) SHEETA 150,000 250,000 £100,000
401 Al HIZ RO 150,000 250,000 £100,000
01 Al&£HI 150,000 250,000 £.100,000
Os0HEZ2(FEN1EN) iE’é%/\f
150,000,000 14| 150,000
SHEEZ FR1RSE (M2 HEZA 200,000 200,000
401 AI2HIX 20 200,000 200,000




HH: CRNSEY 25
HRl: SBAIT & SOHEZZ HE (S ® =)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
01 Al€HI 200,000 200,000 0
Os0EEZ 1S H(MEI2l) He
200,000,000 » 14 200,000
AME10S M (B SSXRHE) 22 400,000 200,000 200,000
401 Al HIZ S CHYI 400,000 200,000 200,000
01 Al&H| 400,000 200,000 200,000
OAtE210S & (BHAS S RME) 2 H
400,000,000 *14] 400,000
HA206SH (2RE]) EEH SA 200,000 200,000
401 AlEHIZ RO 200,000 200,000
01 Al£HI 200,000 200,000
OdilopS s (L22el) SEE SA
200,000,000 *14] 200,000
Solet BRI S22 AEAY 1,200,000 0 1,200,000
= 600,000
== 180,000
Al 420,000
401 AlEHIZ RO 1,200,000 0 1,200,000
= 600,000
= 180,000
Al 420,000
01 Al&€HI 1,200,000 0 1,200,000
OSalier gtxot 22 THAY
1,200,000,0002 *14] 1,200,000
= 600,000
= 180,000
Al 420,000
g~ SH relr2t 244 900,000 700,000 200,000
401 AlEHIZ R0 900,000 700,000 200,000
01 AlZHI 900,000 700,000 200,000
Ogga~dsH HoIxzt =244
900,000,000 * 14 900,000
SHEZZ TZAIEAE 100,000 100,000
401 Al HIZ S CHYI 100,000 100,000
01 Al&HI 100,000 100,000
OsHEZZ AMHE =8EH
100,000,000 14 100,000
SHAL & SOHEZZ AIERE 2E 8| 4,000 4,000
202 04t 4,000 4,000
01 SLHOIH 4,000 4,000
OSHAZ & SHEEZZ MEFT 28
Bl 4,000,000 14 4,000
TEHIRSH TREELEIA 500,000 500,000
401 AI2HIX 20 500,000 500,000




A RA B C9I(S) - MSAY - BES Ol &t = HIDE
01 Al€HI 500,000 500,000
OTFHIREE C2EHYIA
500,000,000 » 14 500,000
SH06S H(SSel) T2 EHSA 200,000 200,000
401 Al HIZ S CHYI 200,000 200,000
01 Al&H| 200,000 200,000
O=2H26ad(=sel) C2EEZHIA
200,000,000& *14] 200,000
ANH205SH 2SS AL 300,000 300,000
401 AlEHIZ RO 300,000 300,000
01 Al£HI 300,000 300,000
OAME206sE S22 L EH S AL
300,000,000 *14] 300,000
Ne, sSHEEZ 224X 100,000 100,000
401 Al2HIX20HH] 100,000 100,000
01 Al&H| 100,000 100,000
ONE4ASH (B D~HIZIZA) 2SS &R
100,000,000 * 14| 100,000
AZ2US H(FeH0IS2) SEHIA 100,000 100,000
401 Al HIZ S CTHYI 100,000 100,000
01 Al&d| 100,000 100,000
OAtE2UMS H(Fet0IS2) SEHSA
100,000,000 *14] 100,000
2 22 d (ne2e] ¢ e OtAZ IMNRI| ALY) 150,000 150,000
S 75,000
Al 75,000
401 Al HIZ S CHYI 150,000 150,000
S 75,000
Al 75,000
01 Al&H| 150,000 150,000
O2dh 2256 (neee| tnea OtAZ Y
I A) 150,000,000 14| 150,000
S 75,000
Al 75,000
HREs - oHotA 22EZE THAY (HEALY) 3,200,000 3,200,000
S 1,600,000
Al 1,600,000
401 AlEHIX20HH 3,200,000 3,200,000
S 1,600,000
Al 1,600,000
01 Al&H| 3,200,000 3,200,000
OH 235 - oot 2AZEZE THAIY
3,200,000,000& x 14 3,200,000
== 1,600,000




el SEAE 2 sHEER

cie p[= (Er9): 22
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
[ ] Al 1,600,000
MEAHEZ =4 906,600 1,075,600 A169,000
AEAHRIZe RS ALY 406,600 375,600 31,000
201 2Bt2SH| 204,600 173,600 31,000
01 AlR2teltl 24,600 10,000 14,600
OSESHH & 2laft]
3,000,000 14| 3,000
OXEHEHOIN SN2+
300,000 x 122 3,600
OB 2 SOel 242
3,000,000 *14] 3,000
OXEN E2 AIZR g2
15,000,000 *14] 15,000
® 2Z2| 180,000 163,600 16,400
ORENLE Jtel 180,000, 00021*14) 180,000
305 A 23S 2,000 2,000
01 A ZS 2,000 2,000
ORENEE TIRLS
2,000,000& 14! 2,000
401 Al HIZ S CHYI 200,000 200,000
01 Al&d| 197,000 197,000
OXENAIE & =2
197,000,000 14| 197,000
03 Al = CHHI 3,000 3,000 0
OXEAHAIE RIIT2 S|
3,000,000 * 14 3,000
gl UHAHEZ FHIAY 500,000 700,000 A200,000
401 Al HIZ S CHYI 500,000 700,000 A200,000
01 Al&H| 500,000 700,000 A200,000
OHUE INXHE=Z HHIAIS
500,000,000 *14] 500,000
T2 AL 2 15,389,007 18,134,826 22,745,729
S 313,068
Al 15,076,029
SHANE & SHEEZ RIEs 2,298,493 3,086,070 AT87,577
SUNE & SHEZZ FXE+ 628,493 916,070 A2B7,577
101 2IAH| 108,493 9,070 12,423
M JIZtHZZ2 TS 2 108,493 9,070 12,423
OSHAIE & S0HEEZ NEHY =
104,800 «7 S * 14 L8R A 82,164
OS8AZ & SHEEZ NEHY FE+
& 104,800 x7H+4 L +B82 Al 23,476
OSHAL & SHEZZ M=&Y 18-
MHEE R2E= 105,640,000 2. 7% 2,853
305 Hhats S 20,000 20,000 0




D EANE=
T EZ2AIA 2]
D 8EAME & sHEERZ |RREs

A RA B C9I(S) - MSAY - BES Ol &t = HIDE
01 that=SS 20,000 20,000 0
OSHAIE & sHELZZ 2d Lol Hidds
20,000,000 *14] 20,000
401 AI2HIX 20 500,000 800,000 £.300,000
01 Al&H| 490,000 790,000 £A300,000
OsHAME & SHERZ RIE=
490,000,000 *14] 490,000
03 AlE 2 0HHI 10,000 10,000 0
OAIE 2 THHI 10,000,000& » 14 10,000
SHAE & SHEEZ 0IN=8A 24 510,000 610,000 £.100,000
305 a2 S 10,000 10,000 0
01 eSS 10,000 10,000 0
OUIXNISEA AL=0il tHet tia=
10,000,000 * 14 10,000
401 Al HIZ S HYI 500,000 600,000 £A100,000
01 Al&H| 500,000 600,000 £100,000
OSHAL & SHEZZ 0IXSEX 24
500,000,000& * 14 500,000
SHAZ & SHEEZE YR AA 1,000,000 1,300,000 £A.300,000
401 AlEZHIZ RO 1,000,000 1,300,000 £A.300,000
01 Al&€HI 990,000 1,290,000 £.300,000
OSHAE & SHEZZ Ui AAY
990,000,000 *14] 990,000
03 Al 2048l 10,000 10,000 0
OAIE=0HbI 10,000,000 * 14 10,000
EEAH fX2el 60,000 60,000
401 Al HIZ S CHYI 60,000 60,000
01 Al€HI 60,000 60,000
OZEEANH SAZ2(HIIEH)
20,000,000 *14] 20,000
OZEAMNE SAZeN(3LEZ)
40,000,000 * 14 40,000
ANEE HEEH 100,000 100,000
401 Al HIZ S HYI 100,000 100,000
01 Al&H| 100,000 100,000
OANEsz s (STE~=TH) 4 AHEH
50,000,000 * 14 50,000
OANE7EH(2~ES) SBA AHEHA
50,000,000 14 50,000
Follsr QIR 1,805,000 1,902,000 297,000
(kS 502,000 502,000 0
401 AlEHIZL RO 502,000 502,000 0
01 Al&H| 500,000 500,000 0
Oel=ZFH| 500,000




A= TAUES = =2
§ﬂ:E§M“ 2l
Chel: =QIME BIRGHA (9 &)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
cuNsS NSBHZ, £22 T FY|
150,000,000 14| 150,000
oS FEZ, 252 A-FY|
100,000,000 14 100,000
cEEE FU2 A=Y
100,000,000& 14| 100,000
oZoIZH 2324
150,000,000 14| 150,000
03 Al R0HHI 2,000 2,000 0
Ol &4l RHbl 2,000,000 14 2,000
CEEH FH| 800,000 800,000
401 Al HIZ S THYI 800,000 800,000
01 Al&d| 795,000 795,000
Oz = ZEH| 795,000,000 * 14 795,000
03 A2 28I 5,000 5,000 0
O==2Z 34| 20|
5,000,000 14 5,000
uxtz | 503,000 600,000 297,000
401 AI2HIX 20 503,000 600,000 297,000
01 Al&H| 500,000 597,000 A97,000
OuxtZ &l 500,000,000 * 14 500,000
03 Al 0HHI 3,000 3,000 0
OulxtE &H| 20| 3,000,000 14| 3,000
ANE & AIZAIE 722 7,674,051 10,431,092 22,757,041
< 313,068
Al 7,360,983
ADH =2 8Hl & B 1,612,915 1,638,002 2A125,177
101 ©124H| 202,915 128,092 74,823
M OIRKZZ2XNSE S 202,915 128,092 74,823
O&2H M=HY JI=ES
104,800 8 10 x212 Al 176,064
O HEXNY FH4
04,8003 x8EH 1L #2122 A 17,607
Okzd¥ M=&g 1E2EE B3
176,064,000& *1.5% 2,641
OT2¥ HEXY AWRY 22
176,064,0002 *3.75% 6,603
305 =S 10,000 10,000
01 that=S 10,000 10,000
O==ZAl&dE 2Iztel TIoH thak=
10,000,000 *14] 10,000
401 AlEHIZ RO 1,300,000 1,500,000 £.200,000
01 AlZHl 1,295,000 1,495,000 £.200,000
OADIXI =288l & 2+
1,295,000,000& * 14 1,295,000




D EANE=
H: T2 A2

CFOI: AS & AIZAIE SR (S ® =)
A RA B C9I(S) - MSAY - BES Ol &t = HIDE
03 Al& R HHI 5,000 5,000 0
OAJI S23Hl @ 24
5,000,000 14 5,000
HE X SSHALE 1,700,000 1,500,000 200,000
401 Al HIZ S CHYI 1,700,000 1,500,000 200,000
01 Al&H| 1,700,000 1,500,000 200,000
OTEXSSAL(ENZ)
700,000,000& *14] 700,000
OTEXISstA (BHer=)
1,000,000,000& * 14 1,000,000
= 527 |RX2al 15,000 12,000 3,000
401 AlEHIZ RO 15,000 12,000 3,000
01 Al£HI 15,000 12,000 3,000
Os2 527 g2
15,000,000 * 14 15,000
ng A2 900,000 900,000
401 Al HIZ S THYI 900,000 900,000
01 Al€HI 895,000 895,000
Ooug FX2 895,000,000 *14] 895,000
03 A2 208l 5,000 5,000 0
O RA4 2y
5,000,000 14] 5,000
CEEXEEY 200,000 300,000 £.100,000
401 AI2HIX 20 200,000 300,000 £.100,000
01 Al&H| 200,000 300,000 £100,000
OEZEXEHE 200,000,000 * 14 200,000
UHEl0IES 7Y N (TEALY) 420,000 1,000,000 A580,000
== 210,000
Al 210,000
401 AlEHIZ RO 420,000 1,000,000 A580,000
== 210,000
Al 210,000
01 Al&Hd| 420,000 1,000,000 £580,000
ONeloI2Es+4 Ho
420,000,000 * 14| 420,000
S 210,000
Al 210,000
WEAD T2 R LA (HEALY) 106,136 306,000 199,864
= 53,068
Al 53,068
401 AlZHIZL SO 106,136 306,000 199,864
= 53,068
Al 53,068
01 Al€HI 106,136 306,000 £199,864




2

2: CAlDNE=
M T2 A2
S Al & AIZAIE SX22]

A RA B C9I(S) - MSAY - BES Ol &t = HIDE
OuSALL #2 = e
106,136,000 +14] 106,136
= 53,068
Al 53,068
SMUTZ HXIAY 500,000 500,000
401 Al HIZ S THYI 500,000 500,000
01 Al&H| 500,000 500,000
Oz uxtz XA
500,000,000 %190 & 500,000
Ht2(FE=2al) ATH XA 500,000 200,000 300,000
401 AlZHIZ RO 500,000 200,000 300,000
01 Al&€HI 500,000 200,000 300,000
Oait2(Fa~F22l) ATLRIA
500,000,000 * 14 500,000
C2 HY IIXNSEX 24 1,020,000 1,020,000
305 Hi& =S 20,000 20,000
01 BHet=S 20,000 20,000
OZAIHEEZ 23 TioH thiak=
20,000,000& * 14 20,000
401 AlEHIZ RO 1,000,000 1,000,000
01 AlZHI 1,000,000 1,000,000
OZAIHEEZ DIXIZ8X 24t
1,000,000,0002 %14 1,000,000
CIES T JHH(HEAY) 100,000 130,000 230,000
S 50,000
Al 50,000
401 Al HIZ S HYI 100,000 130,000 230,000
= 50,000
Al 50,000
01 Al&d| 100,000 130,000 230,000
Oel2a79 HH 100,000,000 14| 100,000
== 50,000
Al 50,000
A= g HItE A 500,000 500,000
401 AlEHIZ RO 500,000 500,000
01 Al&H| 500,000 500,000
Ogi= ¢l THotd HHIAY
500, 500,000
JEA Eotd & HASX J|=2HE 100,000 100,000
401 Al HIZ S THYI 100,000 100,000
01 Al&H| 100,000 100,000
OLEAl 2HOtA A HOISH J|=H =
gE9 100,000,000 *14] 100,000
CEHEAIE EHIA 100,000 0 100,000




A= TAlLS=
F: Tz Aldze]
el AT 2 AZAIE SR

A RA B C9I(S) - MSAY - BES Ol &t = HIDE
401 AlEHIZ R0 100,000 100,000
01 Al€HI 100,000 100,000
OT2OHHAIE FUIAIY
100,000,000 *14] 100,000
CEHe2te] 2,835,200 1,952,300 882,900
CEMEAY 2,544,200 1,723,000 821,200
201 LBt2SH| 1,675,600 1,135,600 540,000
01 AtR2t2/H] 1,415,000 925,000 490,000
o=l 8,000
oHEX =S4l 8,000& x50 *202] 8,000
ogxt= 1,407,000
SMEAAIHA LIHEZ)
25,000,000& =42CH 1,050,000
SMEZAIH SR (&)
21,000, 0002 2CH 42,000
o<=ofi ol CHHI &Hl St
15,000, 0002 217K 315,000
02 3324l 260,600 210,600 50,000
ONM&EH| Sl 45,000,000 * 14 45,000
OM&ZH & 200,000,000 * 14 200,000
O3&8a= 15,600
o™MIIQ2 U 4|
900,000& * 12043 10,800
cdotrER= 400,000& 12942 4,800
206 M=Hl 446,600 245,400 201,200
01 IH=HI 446,600 245,400 201,200
OEI| & & S HaL2E
15,000,000& * 14 15,000
O At 22,000 *1,000m" 22,000
Oosszs 420,0002 *480= 201,600
Oas 190,000& *960E 182,400
O&Ez2+=E It 6.,400,000& *4= 7| 25,600
302 OIF=L ol 2&t= 62,000 62,000
02 It s e s24=2 62,000 62,000
OgAlH| 8,000& x80& *50%] 32,000
O =l 30,000,000 *14] 30,000
305 Hi& =S 20,000 20,000
01 =S 20,000 20,000
ON&xg elz2rolmls tHels
20,000,000 *14] 20,000
405 THaHE S 340,000 260,000 80,000
01 Tt =S F=H| 340,000 260,000 80,000
O&tid| ¢l 60,000,000 *4CH 240,000
ONM#&I| ¢ 20,000, 000 +5CH 100,000




b

EAWE=
SEAER
<

A=
K ZH -

(=l

[0l
L
OF
0J

el
el

C2H-2

=CE

61,700
61,700
61,700

12,989

17,240
17,240
A17,144
A17,144
20,000
20,000
20,000
222,700
27,300
120

27,180

169,300
116,800

229,300

dEc
Off 28

52,500

60,000
60,000
763,364

319,904

2,760
2,760
317,144
317,144
376,160
126,160
5,680

120,480

291,000
231,000
178,500
16,800
161,700
52,500

Off 428

31,500
21,000
60,000
60,000
60,000

776,353

320,000
20,000
20,000
20,000

300,000

300,000

300,000
20,000
20,000
20,000
20,000

363,460

153,460

5,800
1,600
1,600
4,200

3,600

600

147,660

660
11,000

11,660
136,000

8,000&*10Z 10«21 A
770,000& x 10 *212 A

01 At=2t2(Hl

RN - BB O9I(3) - HRAY - BaS

30
0
[0
[0

1,500,000 212 A
1,000,000 21 M
60,000,000 14

Hl =Xl

OM& 2|

405 Xbit

&l

il
=
W_.

H

<0

-

R0

3]

k=1

,000& 20

2te| o

300,000,000 *14]

=
-

21 Al
200,000 x4H %2

=

X=E 34l &
S0t Xt
01 AtR2t2[H]
[=H

01 At222[HI
01 At22t2lH]

307 212t01™

i
[

ol

50,000 » 128

=

600,000 *6

i
=

ol

<
RO
0

60,000 *11CH
1,000,000 *11CH

oA&I|H BA=

00

H

e

OAIE2 ZH|I=XH|




D EANSSE M E20
D EZ2AIE2e]
D E2EE 29

A RA B C9I(S) - MSAY - BES Ol &t = HIDE
oHEIH "= 4,000,000& 123 48,000
SALIN 2l L 2K
8,000,000& 11CH 88,000
401 Al HIZ S THYI 200,000 200,000
01 Al&H| 200,000 200,000
OAEINA XX &=
200,000,000 *14] 200,000
CEdy 224 82,893 67,300 15,593
101 ©124H| 11,733 0 1,733
M ORIMZZ2XSE s 1,733 0 1,733
OEZ WsSEXA JIEs
95,2003 x40H 3 11,424
OLZ WUSEXZAL NE - MIHEE RES
11,424,000 2. 7% 309
201 Zet2SH| 58,600 54,400 4,200
01 AlR2teltl 44,200 40,000 4,200
Ax= 40,000
ocLZHY ZRMLAIEE EF
40,000,000 * 14 40,000
OS2428 Xej=ol 55
600,000 ~7H 4,200
02 35224l 14,400 14,400 0
O8&82= € HA 14,400
SANEZAE &II23 600,000 * 122 7,200
SAZAE & - otk 23
100,000 * 122 1,200
SAZAE SRS 500,000 * 12 6,000
202 Ot 10,800 10,800
01 SLHOIH 10,800 10,800
O HEAIY =] 10,800
o2y & e FI0oYI
150,000 x24 H+33] 10,800
203 AR =3I 1,760 2,100 2340
03 A=A RFEH| 1,760 2,100 A340
OANHZ=TL2F2IY| 1,760,000 14| 1,760
HH2IBHN(=2 D) 805,339 824,863 219,524
olzt2 oy 726,675 730,875 24,200
CE+2AAHIXIZ 726,675 730,875 24,200
101 2124H| 452,018 452,018 0
03 SRH(FINHA) 222+ 452,018 452,018 0
OJle=s 205,942
o254 2,451,600 7 H* 1238 205,942
odz2+¢ 19,682
=25 2,811, 69003 7 +50%%23] 19,682




SEANS= M E20
AY2HIH(=2 )
ol oy| el )
SA - BH - EI(E) - MRAE - BAS = HIDE
OM = eted] 66,919
o254 2,811,690 7 x340% 66,919
Ogd+¢ 38,640
eItEsd 8,400
- B A 40,0002 7B «1&« 128 3,360
= 20,0003 x7E*3& 123 5,040
oS+gfR+g 160,000 x7 & =12 13,440
oHATAE 140,0003 7~ 123 11,760
ol 60,0002 7 * 122 5,040
O=c|=dy| 52,935
o ZHGAHI 140,0003 «7&~ 123 11,760
cuSExH| 140,000 x7 &+ 12 11,760
> HEROH 23,619
25 2,811,690 x7Zx120% 23,619
o ZhAlH| 3,0003 =237 123 5,7%
OZXWU224Y 67,900
cARte 2R
30,0002 *200A12++7H 42,000
oOfR22E 10,0002 x50 A1 2H+7H 3,500
o Xt=g 160,000 +20L+7&H 22,400
M H=SRESS 274,657 274,657
04 BRH(FIH) 22X BEE=RES S 274,657 274,657
O=gdgd=s FE= 456,218,000 4. 5% 20,530
OHZEE F8= 456,218,000 *3.545% 16,173
O QYEHE Fe=
16,173,000& *12.27% 1,985
O1l82s fE= 456,218,000 *2% 9,125
Ot 28 fE= 456,218,0002 *1.5% 6,844
Ogl&ls 2€= 220,000,000 * 14 220,000
J|=2&H 78,664 93,988 A15,324
Jl=234] 78,664 93,988 415,324
201 LBt=EH| 50,824 64,648 213,824
01 At22t2[HI 46,024 59,848 213,824
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